A WWW.CRIMSONHALO.COM

Prometheus Mk.1 Rev.0

I\ Top Elevation

. WHEEL AXLES
i Dotted line shows
5.5” i common axis 55"
] ® g ©
475" g 4.75"
® ® ® ® ® ® ®
[]ie
. o
17.5":
120" {29.5"
. 3
[
Tow Bar ‘© @ @ ‘ @ é @ @ @
 4.75"
© ©
é 36” ’
WHEELS
Pneumatic bicycle type : SUSPENSION
BOLTS 167-18" diameter \Q @ Rails under crossbars
2"x 1/4" with H and bolted in place
1/4" nuts and
1/4" washers
\@ ® ® ® | ® ® ®
] e
: BED PLATE
® ® @‘/ 1/8" sheet metal
TOW BAR
1”square or :
tubular stock; :
first 3 bolts on
left side anchor :
itin place
@ = RAISED BOX
Horizontal posts
o
o :
[T= ol
: RAISED BOX
O ® @ | ® ® ® ® 27x 1/4” bolts with
\ nuts and washers
RAISED BOX

Vertical posts




A

11\ Bottom Elevation

WWW.CRIMSONHALO.COM
Prometheus Mk.1 Rev.0

AXLE NOTCHES

Cut 11" from rear end of each short rail
Cut 16.5" from rear end of each long rail

Each notch is 0.5” wide by 0.75" deep

i 55 e g ® 55"
4.75" | ' 4.75"
Tow Bar ® © ® ol ¢ ® ® ®©
'@ E
® : ®
5 120"
L = 2 2 S |=-ﬁ
- @8 N N ok < Q Lo
c o O — — o ™M (2] '
Ll Nl
e NP B o3 ! (e T S R ---- CROSSBARS
[e) : ' : ' ' ' i Measured from front edge
- of bed plate, centered on
: these numbers. First and
: last bars are set flush with
end of bed plate.
® ®
e
© © © @ © © ©
é 1 4.75"
295" D = . |
36” :
WHEELS AXLE CONNECTION
Pneumatic bicycle type Lock nut and fender washer SHORT RAILS
16- 18" diameter M 25"x1.5"x 1.5"angle iron
TOW BAR BOLTS %‘ Raised side toward wheel
3.25"x 1/4"
(these 3 only)
@ o ; ® &‘D\ LONG RAILS
: 36"x 1.5”x 1.5"angle iron
: Raised side toward wheel
® : ®
s ONGY
i CROSSBARS
TOW BAR 1" square or tubular stock
1”square or :
tubular stock @)\
i N
BED PLATE
. : 1/8" sheet metal
i@
0 © © : © \ ©
BOLTS \
2% 1/4"
RAISED BOX
® Attached to bed and
C shown on opposite side




A WWW.CRIMSONHALO.COM
Prometheus Mk.1 Rev.0
11\ Left and Right Elevations

'I n” SRS i 2"
E 8”
Tow Bar ::E::: 0‘1 25”
B
157

Left Elevation

BOX ANCHORS
Six 2”x 1/4" bolts hold

raised box to bed plate RAISED BOX
/ / Sheath is 1/8” sheet metal

TOW BAR

1”square or round stock

N

= 77—\
@ ¥ | TN
\ g T BED PLATE
@ 1/8" sheet metal
LONG RAIL
Raised side toward wheel
CROSSBARS SHORT RAIL

1”square or tubular stock Raised side toward wheel,

crossbars bolted to top

WHEELS
Pneumatic bicycle type
16"- 18" diameter

Right Elevation



A WWW.CRIMSONHALO.COM
Prometheus Mk.1 Rev.0
I1\ Back and Front Elevations

............................................................................................................................

..........................................................................

= ' Standing height:

= = i 18”if using 16” wheels
19" if using 17" wheels
1 20”if using 18" wheels
| (approximates only)

Ground-to-hub clearance
| approximately 6.5” (on 16" wheels)

Back Elevation

BOX FRAMEWORK
1" square or round stock
RAISED BOX
Sheathing is 1/8” sheet metal TOW BAR
BED PLATE with welded sub-framework 1”square or round stock
1/8" sheet metal ‘
CROSSBARS | ©
1" tubular or round stock WHEELS
® Pneumatic bicycle type
16" - 18" diameter
@
° SHORT RAILS
Raised side toward wheel,
o crossbars bolted to top
LONG RAILS

Raised side toward wheel

Front Elevation



A WWW.CRIMSONHALO.COM

Prometheus Mk.1 Rev.0
I1\ Tow Bar (Top Elevation)

BEFORE
Starting dimensions of
stock are noted here

1"

' '
PR
h ]

48"

. 10-11" . AFTER .
R RRRREEEEE : Proper curve made in
stock, also 1/4" hole cut
3" through both sides of
: tubing 0.5" from top end

CURVE

Bend tubing very slowly
avoiding unevenness or
radial twist, stop when
end reaches destination
as shown here

START OF BEND
Everything up to this point
is straight and has not been
changed in any way

............................................................

STOCK PROFILE AND TYPE

This portion not to scale — either round
or square material can be used, however
outside diameter must not exceed one inch
and tube MUST NOT be bendable by hand.




